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Answer the following questions.
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Point out the ruha ‘T verbs and their derivatives occurring in the main les%on. and spec1fy the bab
of each of them.
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Write the mudari‘ and the masdar of each of the following verbs.
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Point out the rubd ‘7 verbs and their derivatives in the followin;{ sentences, and specify the /)(7/,; of
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Point out all the instances of M\ wa2 occurring in the main lesson.
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Rewrite each of the following sentences making the khabar definite with al-, and make the
necessary chang.@
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Write the plural of each of the following nouns on the pattern of fa '/d.
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To which bab does each of the following verbs belong?

YYV



Oybially 2ealEdl 25000 (Y1)

Al B 7l ol «lan odd L 55esA ade 845 (ol «Cetal 1 Ly - v
S
.(,J\;J\ &5 515 (¢ «(.JL,J\ RS AN I R ()

U 5 b 5h ol «d s i g Ak (o)
ca-Lo uu\ pls 5 Lg\ il u\.: (.J L wﬂ\ s g =D ()

YYA



sl (1)

£ 7
s

r\9U'0Y :.U)L P).W &b ﬂlb .“V\l ab '\.\/Lib T

e R 4 L gt
s JG 345 : el

[0}

FEE g 5285 1 Ak

wwu.w.-wnus\o@j‘ <70 HMTMWM/\
S NP\

i e

“uw,\m,
sl v

»

e

o\
\
\

&
&
&
&&:

?

YVYAQ

..4\

(rY,.(r&

\\0

S

)

o~
.

,



